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1 B8R fi— AREZEM 38 39 77
2 A% BE— #kFh 41 37 78
3SRE & FEH 38 40 78
4 £k shsE FEH 41 38 79
58 -= fotE™ 40 39 79
6 5H B m#E™ 39 40 79
7 EE RE fotE™ 39 41 80
8 #i K IE—BRF [EEET 39 4 80
9 [l IEF fotE™ 40 M 81

10 #6K Bz REZES 40 41 81
11E£m B AREZEH 38 43 81
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12 AR #£— BHE 42 40 82
13ER & ¥BBmrh 4 M 82
14 5 Jthl et 4 M 82
15 2R =50 FEBRFH M A 82
16 K IEA Ml 40 42 82
17 KiE ffi— finta™h 46 37 83
18 ME RER FEH 43 40 83
19 FE —= HET 40 43 83
20 FH ##E= I\ 40 43 83
21 AR # 30 45 39 84
22 BEE XE == 111 43 41 84
23 A =& FEM 42 42 84
24 XR & I\EH 42 42 84
25 TRk IEfE EEH 4 M 85
26 /NE 1835 WA 4 M 85
27 B BZER RESH 4 41 85
28 LR HX FEM 42 43 85
29 88 &=l wmoa™h 40 45 85
30 LUy #F k] 42 44 86
3N HE AE MR 41 45 86
32 =] M FEH 44 43 87
33 EH EH kBT m 44 43 87
34 Ay NET] i 43 44 87
35 f@k W= J\#Eh 45 43 88
36 HiE E= ARM 45 43 88
37 XB EFN RAEER 45 43 88
38 Rk ME— Ml 43 45 88
39 BEX R RAEER 45 44 89
40 BR)Il B= MR 45 44 89
41 k7 ={@ FEm 44 45 89
42 B BRER FEH 43 46 89
43 HFT XXEk FEH 46 44 90
43 8F B finta™h 46 44 90
44 A % BiET 45 45 90
45 Ihith Bz il 45 45 90
46 FTH ZES HARM 44 46 90
47 FEH FE fotE™ 44 46 90
48 HHF HH et 43 47 90
49 I & Ham 43 47 90
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51 @& H RE NS 49 42 91
52 E[R® EF0 ENdam™ 46 45 91
53 Eft Rt BT 44 47 91
54 ikt & ke 43 48 91
55 {HIE B85 INFRT 49 44 93
56 i Hh FEM 48 45 93
57 % Bt kg™ 51 43 94
58 i=fE TEX /NN ] 50 45 95
59 BEIR E1T  M4ET 47 48 95
60 {3 Bk ™ 50 46 96
61 ik ~5H #ram 46 50 96
62 FrE B2 SR e o] 52 45 97
63 AJIl FF finta™h 49 51 100
64 {FiE IEF ART 54 47 101
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